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K #OE A O FE | RERCEL] M E 48 at 304z
1|/ Bl 22,577,922  45.9 22,577,922  45.6
2 sE 5 B 175,000 0.4 175,000 0.4
M FORZ A & 32,000 0.1 32,000 0.1
41k %5 # 2 M & 169,000 0.4 169,000 0.3
5 [BRASEREIE P 51 22 1+ 4 94,000 0.2 94,000 0.2
615 N+ % Bl 2 A& 228,000 0.5 228,000 0.5
N B T < T VA b e 2,516,000 5.1 2,516,000 5.1
8 | IR LD B BB BB A & 1 0.0 1 0.0
9B 5 1w H R AT & 43,000 0.1 43,000 0.1
10| 75 Fe # &2 T & 100,110 0.2 100,110 0.2
1 5 & B 37,000 0.1 37,000 0.1
12| A2 380 22 Ak SR R 1 A A+ 4 7,000 0.0 7,000 0.0
1317 # & &k YA #H & 433,344 0.9 433,344 0.9
1416 OB & OV F OB 948,300 1.9 948,300 1.9
15 7 S & R 10,379,090  21.1 216,340 10,595,430  21.4
16|#0 X st & 7,640,700 15.5 57,220 7,697,920 15.6
17\ JiE I A 12,225 0.0 12,225 0.0
18|%F Bt 4 22,180 0.1 22,180 0.0
19 |#dk A %o 2,126,522 4.3 70,000 2,196,522 4.4
20|k el %o 500,000 1.0 500,000 1.0
217 I A 264,019 0.5 2,450 266,469 0.5
22| {1 855,100 1.7 855,100 1.7
= &t 49,160,513| 100.0 346,010 49,506,523 100.0
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1 [&% = # 371,889 0.8 371,889 0.8
2 [# % # 4,519,645 9.2 4,241 4,523,886 9.1
3R 4 # 26,042,243  53.0 246,452 26,288,695|  53.1
4 | 4 # 6,121,744 12.5 13,282 6,135,026 12.4
5% 18 # 14,561 0.0 14,561 0.0
62 K K E X & 49,582 0.1 500 50,082 0.1
7 |pE T # 210,162 0.4 210,162 0.4
8 |t N # 4,008,289 8.2 3,710 4,011,999 8.1
9 [1H ] # 1,589,651 3.2 1,900 1,591,551 3.2
10|% ) # 3,987,843 8.1 72,787 4,060,630 8.2
11| f& # 2,136,717 4.3 2,136,717 4.4
12| 53 sl 4 7,584 0.0 7,584 0.0
13| 7 i # 100,603 0.2 3,138 103,741 0.2
& 7 49,160,513| 100.0 346,010 49,506,523 100.0
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A 7 H 6,753,765 13.8 2,139 6,755,904|  13.7
‘;’% ® B # 15,797,209  32.1 39,000 15,836,209  32.0
o |A & 2 2,136,717 4.3 2,136,717 4.3
H /I &t 24,687,691  50.2 41,139 24,728,830  50.0
) (G5 7 9,971,456  20.3 32,749 10,004,205  20.2
MOF WM % 248,383 0.5 248,383 0.5
i B # & 6,244,444  12.7 265,274 6,509,718 13.2
H AV 4 212,176 0.4 212,176 0.4
BEEXOHES-H4 181 0.0 181 0.0
i s & 4,172,786 8.5 4,172,786 8.4
B & M & & 3,522,793 7.2 3,710 3,526,503 7.1
¥ fid % 100,603 0.2 3,138 103,741 0.2
= 7t 49,160,513 100.0 346,010 49,506,523 100.0
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AT FH AR TE B B Rl 4 100
= G 346,010
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